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On the following plane, draw a terminal arm that connects to point (3,4).
Create a triangle with the x-axis.

Solve for:
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Rotate the triangle into the other three quadrants and complete the following
table:
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From this table we can see the following patterns:

Quadrant info:

C0sD

1
¥

<O




Examples:

- Draw the angle and triangle in standard position
- Write out the trig ratio
- Solve

What is the exact value of cos 135°7
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QUQCXVE%[ rai MQ}@Q’ are angles with terminal arms on an axis.
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Fill in the following table: tan= A
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Sometimes you WI|&10W the sine, cosine or tangent of @ angles. If so...

Find Ouwadrant s
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STEP 3 SKetdh + solve

Solve for the angle...
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PRACTICE: Pages 96-99 (Q 3, 4, 5,6, 8, 11,18, 25)



